*UXSD 5RINiDG  %,2 VW VHP o7
6(0 7\J
>4 $VSHNIN HINFIQH Z ELRIHFKQRIRJILL
GUTHZVND .
6
[N}
T JRG]LQD
x UH]JHUZRZD
0 7\J
352- 7\J 352- 7\J 6(0 7\J
3URIHNI RELHUDIQ\ 3URIHNI JUXSRZ\ 3%/ 6HPLQDUXP G\SIRPRZH
"]JIHNREVND 8 -RGIRZVND, .DF]PDUHN ||| "URTGT\EVNL 3 ODUFKXI ||| .IHZLFND
O ORI}, 2WHZVND $ 3LHHFK OINRIDIF]\N 2 3DIHIVNL  |||$
= SUT\ENIAD . $ 6RVQRZVND = 7ZDUGD
= 6 &DSD $
ﬁ 6
K 352- 7\J
3URIHNI RELHUDIQ\
"JIHNREVND 8 -RGIRZVND, .DF]PDUHN
O ORN), 2WHZVND$ 3IHHFK
SUT\ENIAD .
$ $ 6
o

2SXEINRZDQ\

3RUHFKQIND /RGIND  &(/&$7 7LPHIDENQJ




